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Methylene Chloride
Response Ratio

Concentration Ratio

      Response = 5.148e-001 * Amt + 3.324e-002
Coef of Det (r^2) = 0.999607   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_D\Method\82D021221S.M
Calibration Table Last Updated: Fri Feb 12 13:30:51 2021



0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

0 0.5 1 1.5 2 2.5 3

Cyclohexane
Response Ratio

Concentration Ratio

      Response = 7.321e-001 * Amt + 2.848e-002
Coef of Det (r^2) = 0.999511   Curve Fit: Linear
Method Name:  Z:\voasrv\HPCHEM1\MSVOA_D\Method\82D021221S.M
Calibration Table Last Updated: Fri Feb 12 13:30:51 2021
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